JAN 25 100

Orig-NDOM
Dup -NBM&G
Trip-DWR
Quad-DEP

400 W. King Street, Suite 106 Carson City, Nevada 89710 Of Minerals (702) 885-5050

REPORT OF GEOTHERMAL SUBSURFACE INJECTIONS

Producer _	NEVADA OPERATIONS, INC. Month of DECEMBER 1994	
Address _	P.O. BOX 1650 FALLON, NEVADA 89407	
	Show each injection well separately. File not later than the last day of the month for the preceding month.	

Geothermal Fluids Injected					
Well #	Gallons Per Day	Gallons Per Month	Average Temp. (F)		Reservoir Depth & Formation
17-31	1,970,400	60,816,500	165	286	
24-7	3,100,800	95,554,400	165	234	
21-31	3,933,600	121,748,000	165	185	
81-1	0	0	0	0	
17A-31	0	0	0	0	·
25-31	0	0	0	0	
		·			
	# 17-31 24-7 21-31 81-1 17A-31	Well Gallons Per Day 17-31 1,970,400 24-7 3,100,800 21-31 3,933,600 81-1 0 17A-31 0	Well Gallons Per Day Gallons Per Month 17-31 1,970,400 60,816,500 24-7 3,100,800 95,554,400 21-31 3,933,600 121,748,000 81-1 0 0 17A-31 0 0	Well Gallons Per Day Gallons Temp. (F) 17-31 1,970,400 60,816,500 165 24-7 3,100,800 95,554,400 165 21-31 3,933,600 121,748,000 165 81-1 0 0 0 17A-31 0 0 0	Well # Gallons Per Day Gallons Per Month Average Temp. (F) Injection Pressure (psig) 17-31 1,970,400 60,816,500 165 286 24-7 3,100,800 95,554,400 165 234 21-31 3,933,600 121,748,000 165 185 81-1 0 0 0 0 17A-31 0 0 0 0

Remarks:

91000c REV: 7/92

I certify this information to be true, correct, and complete and that no pertinent matter inquired about in this report has been omitted.

Signature

Position

Director, Geothermal Ops.

Date

1/23/95

Orig-NDOM Dup -NBM&G Trip-DWR Quad-DEP

400 W. King Street, Suite 106 Carson City, Nevada 89710 (702) 885-5050

REPORT OF GEOTHERMAL SUBSURFACE INJECTIONS

Producer <u>NEVADA OPERATIONS, INC.</u> Month of <u>NOVEMBER</u> 1994								
Address P.O. BOX 1650 FALLON, NEVADA 89407								
Show each injection well separately. File not later than the last day of the month for the preceding month.								
		Geotherma	al Fluids Inje	ected				
Field and Lease Name	Well #	Gallons Per Day	Gallons Per Month	Average Temp. (F)	Injection Pressure (psig)	Reservoir Depth & Formation		
STILLWATER	17-31	2,003,000	58,639,000	166	288			
STILLWATER	24-7	3,083,000	90,204,600	165	236			
STILLWATER	21-31	3,931,200	115,085,900	166	188			
STILLWATER	81-1	0	0	0	0			
STILLWATER	17A-31	0	0	0	0			
STILLWATER	25-31	0	0	0	0			
			·					
Domonitore								

Remarks:

I certify this information to be true, correct, and complete and that no pertinent matter inquired about in this report has been omitted.

	Signature	
	Position	Director, Geothermal Ops.
91000c REV: 7/92	Date	

Orig-NDOM
Dup -NBM&G
Trip-DWR
Quad-DEP

400 W. King Street, Suite 106 Carson City, Nevada 89710 (702) 885-5050

REPORT OF GEOTHERMAL SUBSURFACE INJECTIONS

Producer	NEVADA OPERATIONS, INC. Month of OCTOBER	1994
Address	P.O. BOX 1650 FALLON, NEVADA 89407	· · · · · · · · · · · · · · · · · · ·
	Show each injection well separately. File not later than the last day of the month for the preceding month.	

		Geotherm	al Fluids Injo			
Field and Lease Name	Well #	Gallons Per Day	Gallons Per Month	Average Temp. (F)	Injection Pressure (psig)	Reservoir Depth & Formation
STILLWATER	17-31	1,575,400	48,836,200	171	242	
STILLWATER	24-7	3,152,200	97,717,000	170	241	
STILLWATER	21-31	3,944,200	122,269,000	171	193	
STILLWATER	81-1	0	0	0	0	
STILLWATER	17A-31	0	. 0	0	0	
STILLWATER	25-31	0	0	0	0	

Remarks:

I certify this information to be true, correct, and complete and that no pertinent matter inquired about in this report has been omitted.

Signature

Position

Director, Geothermal Ops.

Date

11/03/94

Orig-NDOM
Dup -NBM&G
Trip-DWR
Quad-DEP

400 W. King Street, Suite 106 Carson City, Nevada 89710 (702) 885-5050

REPORT OF GEOTHERMAL SUBSURFACE INJECTIONS

Producer <u>NEV</u>	ADA OPEF	RATIONS, INC	C. Month of	f <u>SEPTEM</u>	BER	<u> 1994</u>	
Address P.O. BOX 1650 FALLON, NEVADA 89407							
Show each injection well separately. File not later than the last day of the month for the preceding month.							
		Geotherma	al Fluids Inje	ected			
Field and Lease Name	Well #	Gallons Per Day	Gallons Per Month	Average Temp. (F)	Injection Pressure (psig)		
STILLWATER	17-31	1,932,500	57,974,400	179	299		
STILLWATER	24-7	3,186,700	95,601,600	180	244		
STILLWATER	21-31	3,823,200	114,696,000	179	198		
STILLWATER	81-1	0	0	0	0		
STILLWATER	17A-31	0	0	0	0		
STILLWATER	25-31	0	0	0	0		

Remarks:

I certify this information to be true, correct, and complete and that no pertinent matter inquired about in this report has been omitted.

Signature

Position

Director, Geothermal Ops.

Date

10/84/94

Orig-NDOM
Dup -NBM&G
Trip-DWR
Quad-DEP

400 W. King Street, Suite 106 Carson City, Nevada 89710 (702) 885-5050

REPORT OF GEOTHERMAL SUBSURFACE INJECTIONS

Producer <u>NEV</u>	ADA OPE	RATIONS, IN	C. Month o	f <u>AUGUST</u>	1	9 94		
Address P.O. BOX 1650 FALLON, NEVADA 89407								
Show each injection well separately. File not later than the last day of the month for the preceding month.								
		Geotherm	al Fluids Inj	ected				
Field and Lease Name	Well #	Gallons Per Day	Gallons Per Month	Average Temp. (F)	Injection Pressure (psig)	Reservoir Depth & Formation		
STILLWATER	17-31	1,739,200	50,087,600	186	278			
STILLWATER	24-7	3,248,700	92,586,700	187	242			
STILLWATER	21-31	3,889,900	118,641,900	187	200			
STILLWATER	81-1	0	0	0	0			
STILLWATER	17A-31	0	0	0	0			
STILLWATER	25-31	0	0	0	0			

Remarks:

91000c REV: 7/92

I certify this information to be true, correct, and complete and that no pertinent matter inquired about in this report has been omitted.

Signature

Position

Director, Geothermal Ops.

Date

9/19/94

Orig-NDOM
Dup -NBM&G
Trip-DWR
Quad-DEP

400 W. King Street, Suite 106 Carson City, Nevada 89710 (702) 885-5050

REPORT OF GEOTHERMAL SUBSURFACE INJECTIONS

Producer	NEVADA OPERATIONS, INC. Month of JULY	19	94
Address	P.O. BOX 1650 FALLON, NEVADA 89407		
	Show each injection well separately. File not later the last day of the month for the preceding month.	than	

	Geotherm	al Fluids Inj	ected			
Well #	Gallons Per Day	Gallons Per Month				Reservoir Depth & Formation
17-31	1,865,300	57,823,700	192		301	
24-7	2,988,900	92,656,200	193		241	
21-31	3,837,700	118,968,000	192		200	
81-1	o	0	0		o	
17A-31	o	0	0		0	
25-31	o	0	0		0	
	T T T T T T T T T T T T T T T T T T T					
					Polyty (m. management)	
	# 17-31 24-7 21-31 81-1 17A-31	Well Gallons Per Day 17-31 1,865,300 24-7 2,988,900 21-31 3,837,700 81-1 0 17A-31 0	Well Gallons Per Day Gallons Per Month 17-31 1,865,300 57,823,700 24-7 2,988,900 92,656,200 21-31 3,837,700 118,968,000 81-1	Well # Gallons Per Day Gallons Per Month Temp (F) 17-31 1,865,300 57,823,700 192 24-7 2,988,900 92,656,200 193 21-31 3,837,700 118,968,000 192 81-1 0 0 0 17A-31 0 0 0	Well # Gallons Per Day Gallons Per Month Average Temp. (F) 17-31 1,865,300 57,823,700 192 24-7 2,988,900 92,656,200 193 21-31 3,837,700 118,968,000 192 81-1 0 0 0 17A-31 0 0 0	Well # Gallons Per Day Gallons Per Month Average Temp. (F) Injection Pressure (psig) 17-31 1,865,300 57,823,700 192 301 24-7 2,988,900 92,656,200 193 241 21-31 3,837,700 118,968,000 192 200 81-1 0 0 0 0 17A-31 0 0 0 0

Remarks:

I certify this information to be true, correct, and complete and that no pertinent matter inquired about in this report has been omitted.

Signature

Position

Director, Geothermal Ops.

Date

8/35/94

Orig-NDOM
Dup -NBM&G
Trip-DWR
Quad-DEP

400 W. King Street, Suite 106 Carson City, Nevada 89710 (702) 885-5050

REPORT OF GEOTHERMAL SUBSURFACE INJECTIONS

Producer <u>NEV</u>	ADA OPEI	RATIONS, IN	C. Month o	f <u>JUNE</u>	1	9 94			
Address P.O	. BOX 16	550 FALLO	N, NEVADA 89	407					
Show the	Show each injection well separately. File not later than the last day of the month for the preceding month.								
		Geotherm	al Fluids Inj	ected					
Field and Lease Name	Well #	Gallons Per Day	Gallons Per Month	Average Temp. (F)	Injection Pressure (psig)	Reservoir Depth & Formation			
STILLWATER	17-31	1,706,400	51,192,000	175	271				
STILLWATER	24-7	3,002,400	90,072,000	174	240				
STILLWATER	21-31	3,101,800	93,052,800	175	164				
STILLWATER	81-1	o	0	0	0				
STILLWATER	17A-31	o	0	0	0				
STILLWATER	25-31	o	0	0	0				
·									
		THE CONTRACTOR OF THE CONTRACT							

Remarks:

I certify this information to be true, correct, and complete and that no pertinent matter inquired about in this report has been omitted.

Signature

Position

Director, Geothermal Ops.

Date

7/19/94

Orig-NDOM
Dup -NBM&G
Trip-DWR
Quad-DEP

400 W. King Street, Suite 106 Carson City, Nevada 89710 (702) 885-5050

REPORT OF GEOTHERMAL SUBSURFACE INJECTIONS

Producer <u>NEV</u>	ADA OPEI	RATIONS, IN	C. Month o	f <u>MAY</u>	1	9 94	
Address P.O. BOX 1650 FALLON, NEVADA 89407							
Show each injection well separately. File not later than the last day of the month for the preceding month.							
		Geotherm	al Fluids Inj	ected			
Field and Lease Name	Well #	Gallons Per Day	Gallons Per Month	Average Temp. (F)	Injection Pressure (psig)	Reservoir Depth & Formation	
	A COLOR OF THE COL						
STILLWATER	17-31	1,825,900	54,777,600	171	299		
STILLWATER	24-7	3,028,300	93,877,900	170	237		
STILLWATER	21-31	3,062,900	94,949,300	170	162		
STILLWATER	81-1	O	0	0	0		
STILLWATER	17A-31	0	0	0	0		
STILLWATER	25-31	0	0	0	0		
		T PARAMETERS OF THE PARAMETERS					

Remarks:

I certify this information to be true, correct, and complete and that no pertinent matter inquired about in this report has been omitted,

Signature with him

Position <u>Director, Geothermal Ops.</u>

Date 6/16/44

Orig-NDOM
Dup -NBM&G
Trip-DWR
Quad-DEP

400 W. King Street, Suite 106 Carson City, Nevada 89710 (702) 885-5050

REPORT OF GEOTHERMAL SUBSURFACE INJECTIONS

Producer <u>NEV</u>	ADA OPEI	RATIONS, IN	C. Month o	f <u>APRIL</u>	1	9 94	
Address P.O. BOX 1650 FALLON, NEVADA 89407							
Show each injection well separately. File not later than the last day of the month for the preceding month.							
	Geothermal Fluids Injected						
Field and Lease Name	Well #	Gallons Per Day	Gallons Per Month	Average Temp. (F)	Injection Pressure (psig)	Reservoir Depth & Formation	
STILLWATER	17-31	1,837,400	55,123,200	177	301		
STILLWATER	24-7	2,947,700	88,430,400	177	240		
STILLWATER	21-31	3,846,200	115,387,200	176	190		
STILLWATER	81-1	0	0	0	0		
STILLWATER	17A-31	. 0	0	0	0		
STILLWATER	25-31	. О	О	0	0		

Remarks:

91000c REV: 7/92

I certify this information to be true, correct, and complete and that no pertinent matter inquired about in this report has been omitted.

Signature

Position

Director, Geothermal Ops.

Date

5/13/94

Orig-NDOM
Dup -NBM&G
Trip-DWR
Quad-DEP

400 W. King Street, Suite 106 Carson City, Nevada 89710 (702) 885-5050

REPORT OF GEOTHERMAL SUBSURFACE INJECTIONS

Producer .	NEVADA OPERATIONS, INC.	Month of MARCH	19	94
Address	P.O. BOX 1650 FALLON, NET	/ADA 89407		
	Show each injection well sent the last day of the month for			

Geothermal Fluids Injected						
Field and Lease Name	Well #	Gallons Per Day	Gallons Per Month	Average Temp. (F)	Injection Pressure (psig)	Reservoir Depth & Formation
STILLWATER	17-31	1,808,600	55,955,700	172	299	
STILLWATER	24-7	3,013,900	93,244,700	170	238	
STILLWATER	21-31	3,844,800	118,950,400	170	189	
STILLWATER	81-1	0	0	0	0	
STILLWATER	17A-31	0	0	0	0	
STILLWATER	25-31	0	0	0	0	
:						
		i !				

Remarks:

91000c REV: 7/92

I certify this information to be true, correct, and complete and that no pertinent matter inquired about in this report has been omitted.

Signature

Position

Director, Geothermal Ops.

Date

4/15/94

MAR 28 1994

Orig-NDOM
Dup -NBM&G
Trip-DWR
Quad-DEP

400 W. King Street, Suite 106 Carson City, Nevada 89710 W. Of Minerals (702) 885-5050

REPORT OF GEOTHERMAL SUBSURFACE INJECTIONS

Producer <u>NEVADA OPERATIONS, INC.</u> Month of <u>FEBRUARY</u> 19 94							
Address P.O. BOX 1650 FALLON, NEVADA 89407							
Show each injection well separately. File not later than the last day of the month for the preceding month.							
		Geotherm	al Fluids Inj	ected			
Field and Lease Name	Well #	Gallons Per Day	Gallons Per Month	Average Temp. (F)	Injection Pressure (psig)	Reservoir Depth & Formation	
STILLWATER	17-31	1,807,200	50,601,600	166	298		
STILLWATER	24-7	2,928,000	82,010,900	163	238		
STILLWATER	21-31	4,056,500	113,581,400	164	187		
STILLWATER	81-1	0	0	0	0		
STILLWATER	17A-31	0	0	0	0		
STILLWATER	25-31	0	0	0	0		
	The state of the s						

Remarks:

91000c REV: 7/92

I certify this information to be true, correct, and complete and that no pertinent matter inquired about in this report has been omitted.

Signature	
Position	Director of Geothermal Ops.
Date	

Orig-NDOM
Dup -NBM&G
Trip-DWR
Quad-DEP

400 W. King Street, Suite 106 Carson City, Nevada 89710 (702) 885-5050

REPORT OF GEOTHERMAL SUBSURFACE INJECTIONS

Producer	NEVADA OPER	RATIONS, IN	C. Month c	of <u>JANU</u>	JARY	<u>19</u>	94
Address	P.O. BOX 16	550 FALLO	N, NEVADA 89	407	····		·····
Show each injection well separately. File not later than the last day of the month for the preceding month.							
		Geotherm	al Fluids Inj	ected			
	1 1						

		Geotherma	al Fluids Inj	ected		
Field and Lease Name	Well #	Gallons Per Day	Gallons Per Month	Average Temp. (F)	Injection Pressure (psig)	Reservoir Depth & Formation
	200000	***				
STILLWATER	17-31	1,818,700	51,469,800	155	271	
STILLWATER	24-7	3,013,900	92,477,100	154	236	
STILLWATER	21-31	3,191,000	97,140,600	153	166	
STILLWATER	81-1	o	0	0	0	
STILLWATER	17A-31	0	0	0	0	
STILLWATER	25-31	O	0	0	0	

		Antigraph description				
		VI				
					!	

Remarks:

I certify this information to be true, correct, and complete and that no pertinent matter inquired about in this report has been omitted.

Signature

Position

Date

J-21-94